alr DRILL CHART hsﬂ‘fo'i-;; Needs to prass fie ., Tis Cop Needs to press fit BILL OF MATERIAL (621.72) PER EACH CORNER
3 1|13 174" : F&' aTy DESCRIPTION ASTM DESIGNATION
” " 15 i = S oa I 3& | (=
POST “1~4 4 r 3 |v-2 1/16° 1 _|THRIE BEAM TERMINAL CONNECTION <10 Ga) AASHTO MI80
1 4 |18 3/8 1 _[THRIE BEAM TRANSITION @ 7'-3 1/2° <10 Go) AASHTO M180
5 6 3/8"~ 1_|CONNECTION PLATE A36
r 2 I 3/ J . s iz 2_[12” 6" THRIE BEAM (12Ga) AASHTO M180
I T :| - & ﬂ/_ ﬂ 4_|W6X25 POST €@ 8'-0° (PUNCHING VARIES - POST 1~4) AS572 Gr. 50
1 LB || q % 1 |DEFLECTOR PLATE (APPROACH OR TRAILING) A36
55" } i 1 [8 X 4" X 5/16" RAIL @ 9'-4~ AS00 Gr. B
8 | 1 _|4° X 4 X 174" RAIL @ 9'-4 AS00 Gr. B
i LB - - 1_[8” X 4” X 1/4° END CAP A36
<P Il % H - Pt 1_|4" X 4" X 1/4° END CAP A36
i e 1_|7" x 3" x 3/8" SPLICE TUBE € I’ 11 3/4° AS00 Gr. B
AL | : 1_[3" x 3" x 5/16” SPLICE TUBE @ 1’ 11 3/4" AS00_Gr. B
L I 8 |# 3/4° SCH. 40 PIPE e 1/2° AS3
PER CHART | 8 |# 5/8° X 1 3/4° HEX BOLTS A307
| 11" 8 | 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
o 8 7 |# 3/4° X 6’ CARRIAGE BOLT, & NUT 7307
(TYP.)|] 1 _|# 3/4° X 2' CARRIAGE BOLT, & NUT A307
| € =+ T 19 |#¢ 5/8° X 1'-6° BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, F844 or 307, & AS63
s 13" | g — 32 |# 5/9° X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
(TYP )—" 19 |3/16° SPEC. PLATE WASHER @ 1 3/4° X 3° A36
. - - : 16 |¢ 3/4° X 6° ROUND HEAD BOLT, F.W. LOCK W. & NUT 4449, F436, ASME BIS.21L1, & A963
B | 13 The expansion spllce tul_aes and assouatet_:l hardyvare are accounteq 0 16 X 8 WOOD POST € 7/=0° SUPPLIED BY OTHERS
8'-0" W6Xe54 16 P! for on both the bridge rail and approach rail drawings and material lists. 9 |6 X 8° WOOD BLOCKOUTS @ 1-6 SUPPLIED BY OTHERS
FOR N 1_|6 X 8 wOOD _BLOCKOUTS € 1'-2* SUPPLIED BY OTHERS
— 1 — AVl
I (TYP.) \ HARDWARE APPLICATION
I;I 1..] arTy DESCRIPTION ASTM DESIGNATION APPLICATION
A | 8 |p 5/8° X 1 3/4" HEX BOLTS A307 USED_IN SPLICE TUBES
| CONNECTION PLATE DETAIL B | 8 |¢ 5/8° FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
b s C | 7 |# 3/4° X 6" CARRIAGE BOLT, & NUT A307 TERM. CONN, & CONN, PLATE TO RAIL
3_| D | 1 |6 3/4° X 2° CARRIAGE BOLT, & NUT A307 DEFLECTOR PLATE 70 CONN. PLATE
8 23" E | 19 ¢ 5/8° X 1'-6’ BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or 307, & AS563 |THRIE BEAM, 10 OFFSET BLOCK, 10 6x8° POST
1113 F | 32 | 5/8° X 1 1/4° BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307 FASTEN PANEL COMPONENTS TOGETHER, (THRIE, TERMINAL CONNECTOR, TRANSITION SECTION)
A3 G | 19 |3/16" (SPECIAL) PLATE WASHER @ 1 3/4° X 3' A36 USED IN PANEL VALLEY, W/ 18" BOLT
e 1 H | 16 |# 3/4° X 6 ROUND HEAD BOLT, FL. WASHER, LOCK W. & NUT A449, F436, ASME B18.2L1, & AS63|FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4
— 3" p— — gl
1°x1* CLIPPED CORNER~_ 4
L 17 l
& 12"~ |- 2
2 o] A . 6> TYPE A WIDE PLAIN WASHER G e EXPANSION SPLICE FOR: TS4x4x1/4
, ]——Q} o &4 4 ' (12167 x 27 5132 % 95/8° TAPPED HOLE @x
1 HEX NUT . ©1.050 (REF) . a4 "
13 L P SIS D 3/4 18" == 112" g ® 3/4" | /“’ TS3x3x5/16
156" ¥ 16 \ 3/4"SCH.40 PIPESPACER ~  Pre==—=—= . O — s
l o o l — = AR LJ
b o6 = gn _l_e 1 ]
18 Lo . 378" MIN. 3 é_l 13
1/8" 6 3/8" 1-5§*
n7\ A 449 (TYPE1) ONLY FULL DIA. BOLTS e ADE r-93 AS00 Gr. B
3"x6° CLIPPED CORNE \—12)1“ (@ ROUND HEAD BOLT WILL BE ALLOWED | \ ”—11%
3%’ 32"?EF‘ } :—% Q /8* NUT<@ OUTER HOLES ONLY>
—Ia““ .2, 0033.90055 TACK WELD
['i8
- $< DEFPL-LTXT /1
/ 0 0 I 1 1[ . /.- ar " ___: _______ H
EXPANSION SPLICE FOR: TS8x4x5/16” '0?'—* osler XL e s e e Iy
g — 2 EA

ADD THESE
<(4) 91* HOLES

MODIFICATION TO P/N 5143.40056
TO CREATE P/N 514390056

TAPPED HOLE

@x
@ 3/4°-] Bx

e

TS7x3x3/8"
-3 3/4"
A
AS00 Gr. B

/8" NUT<@ DUTER
HOLES ONLY>

TACK WELD

-—-r!r——————-:h——%

DEFLECTOR PLATE DETAIL

APPROACH SHOWN, TRAILING-OPPOSITE BEND

ITEM #:621.72

DRAWINGS ARE FOR COMPONENTS,
ASSEMBLE PER STANDARD S-360B

| SHEET 1 OF 2

APPRMVEN RY:

Vermont Agency of Transportation

RECEIVED

2 RAIL BRIDCE RAIL T0 GUARDRALL, TRANSITION

PROJECT: MARLBORO BRF 010-1 (43) VT 9 PRINCIPAL ARTERIAL-NHS, BRIDGE NO. 48
TOWN OF MARLBORO, WINDHAM COUNTY, VERMONT

R[NO. | DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY
CK'D BY RK OK'D BY S E EP. 5
) v
April 29, 2014 - DRAWN | Ep. | 42ori4
Reiected ELDERLEE.INC @\EB\ SR ARl CHECKED | DL | w2
LINC.

RESUBMIT YES ejecte 0AKS CORNERS, NEW YORK 145 s AFERONRO I = -
BY KH DATE 5-21-2014 E—-Mail: dlong®elderlee.com SCALE | SCHEMATIC

I Tel:315-789-6670 Fax:315-789-6615 DRAWING NO. FAL MARLEOROT




|— 105"(TYP)
126" e 63 (TYP)
_ /53/4* x 2 172 SLOT 16x) A C|) | bz
! 7o o)
S S :f—':!— ————— —e—————> — e —— — = =Sy e o
. o o o o
78 = 5 (@] @)
4 S e = e —em———— — - = — e =
| p O @) o
= ®) ) ®
6-3"(TYP)
13-64"
29,32 » I 178 SLUT The fabricator is advised that the
24X approach rail is curved for this project
(North rail radius = 1783, South rail 9'-4"
radius = 1743"). If the rail sections are ) ' .
Q\SQ fabricated as straight sections, the 7'+ 11 ]
%Qx Q_Q, installer shall verify that the rail can be .
\ QQ g-4" installed so that the face of rail will be as 7 '81
Qtz:\’ Q’\\,Q' 3 shown on the plans. 5'_9%"_1
N 5 U n
@) % 7 1 1 5| 6_n
s O ™ n
L adn ) o B 107
¥ «Q—?\ 3 4 4 EA. 4 6_"
5| 9 w__ 3,_4_" 4
1 1 n 4 Pg" 4 __2_"
2 EA. 5 _61 04 & |_51u_‘ 4
3'_7_"_____ 1 1 "
4 S 2" 1125 | 213/16" THRU (8X)
—— 347" ——— T2 1112 AU (6X)—
4 n +—+ } Jvk é 4 I
{153 el A, ~ O1"THRU(BXY o
4" 4 o13/16" 32..__| 2/@1 1/8"(+1/16 /-0") x 3 1/2" (2X)
BOTTOM ONLY
2" 5. *1'-21"|- THRU, (8X) '\ 15" (1 EeEa= e,
e —r 16 ——  w — N A—— ) E— p 's l 7..]_ T —51/2'DRANHOLE — ol Lo"]
n@! T [ S i i e e ] R o 2 | 11
8 ! s S AT AT = ] BOTTOM ONLY
| | T : 234l A900 B 40T FRESS T EN e
e Y
71" 1" THRU (4X) 16
3%" 2/91 1/8"(+1/16 /-0") x 3 1/2" (2X) ITEM #: 621.72 | SHEET 2 OF 2
BOTTOM ONLY . e | APPROVEDBY: 4 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION
@ T L e e = L | Ve g ki & Transnoitatl PROJECT: MARLBORO BRF 010-1 (43) VT 9 PRINCIPAL ARTERIAL-NHS, BRIDGE NO. 48
o e e e e S ey o W TOWN OF MARLBORO, WINDHAM COUNTY, VERMONT
7 |— ) @1 /2" DRAIN HOLE / 2" J RECE IVED :NO. DATE | DESCRIPTION :_a: 2 NO.| DATE | _ DESCRIPTION _|BY
_1 1 = 2"— CK'D BY RK OK'D BY J5 v v
BOTTOM ONLY s e
ASOO Gl". B 8 ADD PRESS FIT END CAP— April 29, 2014 il 3: ELDERLEE,INC. %%EIIRIEEKE)Q g::&’én Ef 4/29/14
THIS END ONLY RESuUBMIT YES Rejected i Odmgfﬂﬁgﬁigﬁ?“ﬁff c:.,ff = ;i;it\ém SCHEMATIC
BY KH DATE 5-21-2014 Tel:315—-789-6670 Fax:315-789-6615 DRAWING NO. F.RL MARLBORO-T




